N = 0l & At & Ml A

2021 = =0l &k LA JIEISER A 2AMR=

ne

S LHEENEE
g Ng2s 28 N
el @EET 52H0 S92y CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
2B ALR = 2,957,297 2,829,542 127,755
Aoz 29 X 1,399,444 1,310,915 88,529
HEoll e=H 3o2Y 176,815 215,048 38,233
OYE JEEE 3,705 3,900 A 195
201 fEt2E | 3,705 3,900 A 195
01 AtR 2t 2l | 3,705 3,900 A 195
(det=&Hl) 3,705
1.3 522t 3,705
Jt. 2 2 S0VOMI & 500, 000& *62| *95% 2,850
Lt. 3l o S22k 300, 000& *32| *95% 855
°oggs g2 74,180 77,850 AN 3,670
201 fEt2E | 58,180 61,850 A 3,670
01 At 2t 2l bl 43,330 51,000 NT,670
(get=2Hl) 43,330
TEEMA 60,000 404 x95% 2,280
2.BEEEMH 5,000& *100H *95% 475
.82 MK 1,330
b AR Q1 B} 1,500 «50& 122 95% 855
B N 10,0003 *509H 95% 475
4. 9987 AME 1,200,000 x12& 14,400
5. 9FHId 2100 o AHXt HMH
1,500,000& *95% 1,425
6.213 A¥ES 82 20,000,000 20,000
7.8¢cd3 ¥ FANE >SS ES
200,000& =183 x95% 3,420
02 324t 14,850 10,850 4,000
(A& YIS 14,850
1.213 SWOIX |X2cldl 275,000&*12& 3,300
2. 843 =ER X2l 800,000& =12& 9,600
. E2ANMNESE 50,000& %12 50
4.012t0101 8 2 &4l 700,000& *12 700
5.7l =ASHEIA Ol
700,000& *12 700
6.2 HOIXl 22tSSLAIEM
500,000& *12 500
203 ¢ P E Ul 16,000 16,000 0
03 Al FXH =AY 16,000 16,000 0
123 RAEEFA 10,000, 000& 10,000
2. otBELHA 2B HE A 6,000,000 6,000
Hzog eis W A 56,240 56,240 0
201 2Bt2 | 24,500 24,500 0




SN QB AR

3 Xgos 29 &
el @EET 52H0 S92y CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 24,500 24,500 0
(fIEW=H) 23,000
1.9 AN OIUAKFAZLH 750,000 12 x23| 18,000
2.AEWNSH (22KE) 300,000& *3H 23| 1,800
3.AEWESH (S22 E) 800,000& x4H 13| 3,200
(2d2Y) 1,500
1. SEZAETF MY YRR BFTLE Y 1,500
b.JIe2 70,000& x5 x33] 1,050
L. =1 30,000& x5 33| 450
202 04| 31,740 31,740 0
01 2L Y| 9,600 9,600 0
1.23PdRF& 300,000& x4H 83| 9,600
04 = X3t Yl 22,140 22,140 0
18825 As =23 bl 3,528,000& x5H 17,640
2. aNEALNIHZEAFTIL 2R
1,500,000& «3Y4 4,500
OlF AMPA L HAL 2E 2 32,090 66,458 N 34,368
201 LEt29Y| 28,890 48,540 A 19,650
01 AFR2t2l Yl 11,890 27,340 AN 15,450
(eet4==d|) 11,890
1 oRAANRAYE oMYA T
20,0003 * 104 94! x95% 1,710
2. Z2HEESIIYXE 200,000 *3CH*12& x95% 6,840
3.8 &Il 2,000, 000& =14 x95% 1,900
4. 8340 X 30,000& x4CHx12& 1,440
02 =294l 17,000 21,200 N4,200
(Al & HI S Xdl) 17,000
1. 832 A AE R X2 2l
1,100,000& x12& 13,200
2. U4 SAAE RS E S|
1,000,000& *4:= J|*95% 3,800
405 XtabF S| 3,200 5,000 A 1,800
01 AL 2B F SHI 3,200 5,000 A 1,800
1LOARA =y el 800, 00081 *14! 800
2.2 AARA oX 2 500, 000& =14l 500
3.2 2AARA M 7Y 350,000 *14] 350
4 QA AR A MBI 2! 1,100,000 * 14! 1,100
5.913 Xtz ME 2 450,000& *14] 450
ey 400 400 0
305 HHA=2S 400 400 0
O1Hid=2S 400 400 0




R
¥ wols 29 N
el @EET 52H0 S92y CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
1.931 &2 & A& =3 40,000& x10H 400
A2 10,200 10,200 0
204 A=A H| 10,200 10,200 0
03 EZYFFHI 10,200 10,200 0
1.0 2 =l 50,0003 17 «128 10,200
Negolgl Rxlge 235t 1,222,629 1,095,867 126,762
¥EE AP 738,824 725,895 12,929
205 2|3l | 738,824 725,895 12,929
01 AF &Sl 264,000 264,000 0
198282 HFH 900,000&*20H «123 216,000
2. 2x &zl 200,000& 20K x12& 48,000
02 88+% 474,824 461,895 12,929
1.88+4 1,978,430& x20H 123 474,824
o L& A U AS 86,675 86,675 0
205 2| 3| bl 86,675 86,675 0
03 /& =LH0 bl 26,300 26,300 0
1A SRE=E=UHH 1,315,000& 20H 26,300
04 2| & =2l 60,375 60,375 0
1.9&=22 0l 2,500,000 *1.05+20H 52,500
2. MEAL HEHFZASE
52,500,000 = 15% 7,875
Es g2y 29 397,130 283,297 113,833
205 2|3 | 395,130 281,297 113,833
05 ¥ 2IESZH 116,730 105,057 11,673
1.9828s83l 4,150,000& %1.297x20H 107,651
2.0 AMZBAUAEEARZ 1,000,000& *1.297*7H 9,079
06 Qg 2H =2 79,800 79,800 0
1.9 & 2,200,000 x1Hx12& 26,400
2.5 % 1,050,000 x1H x12& 12,600
34U E 750,000& x»4H 128 36,000
4 0Z2RAEE 400,000& x 18 =128 4,800
07 JAASMLH(BSAE  IMRE) 6,000 6,000 0
L2 NSH (SS9 =) 200,000& x20H 13| 4,000
2.2 M (ML) 1,000, 000& *23| 2,000
08 O A ALY (2122 E) 46,000 46,000 0
1. ENSH (22 &) 800,000& 20 13| 16,000
2. EuSH (2 HE) 750,000& x20E *23| 30,000
09 o & & M 2l 100,000 0 100,000
1.AJEHARZ AL 5,000,000& «20H 100,000




SN QB AR

3 gz 289 X&

Sl XWols XA 2 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
10 A&EEAMEE 2 7,000 7,000 0
1.8 A2 RIS gEEAZEEZ
7,000,000 7,000
11 oIA2RNAZSRE S 21,600 20,880 720
1.20d0ZAERNESL2 90,000& x20H = 12& 21,600
12 ARV AHAALE S 18,000 16,560 1,440
1 ALE2ESAGNREE S 75,000 x20H x 122 18,000
405 XHaHFE S| 2,000 2,000 0
02 & A7 bl 2,000 2,000 0
1293 s 2,000,000& 2,000
HHSHHH (AZ AR Z) 1,557,853 1,518,627 39,226
ol 2AHHY| 1,430,814 1,391,523 39,291
ol 2AH| 1,430,814 1,391,523 39,291
101 @124 1,388,034 1,345,263 42,771
01 2 1,263,588 1,223,607 39,981
(=23) 948,501
1. 92 M (3H) 265,111
A2 (2 H) 91,980,000 *1H 91,980
U553 (d2/d) 81,467,000& »2H 162,934
Ch. X S IH& b 254,914,000 *4% 10,197
2. 83ZE(19%) 683,390
b6z (2158) 3,898,600 x5 x12& 233,916
L.73(182 ) 3,359,200 x6H x12& 241,863
Ch.s2(bae) 2,021,800 x4 x12& 97,047
ct.9z2 (48 8) 1,755,800 x4 x12& 84,279
OF. X 2 H& bl 657, 105,000& *4% 26,285
(&0 4<) 79,610
1.2 Y 5,980
b 52U (63255 E)
4,104,900& x2H *4 . 1%+ 12& 4,040
Lea2UR(723128)
3,941,500 x1H x4 1%+ 12& 1,940
2.8332 x4 683,390,000& *1/12 56,950
3.32x=gIta = 16,680
Jb.25E 0] & 130,000& x6H x12& 9,360
Lt.208 0] &~25E 012 110,000& x1H x12& 1,320
Ch.154 0] &~20A O] 2t 80,000 *x3H x12& 2,880
ch. 10 0] & ~15 0] Bt 60,000& *x1H x12& 720
0F.54 0l & ~104 0] 8¢ 50,000 *4H x12& 2,400
(JHHEE S 13,200
1.052Y 13,200




S LHEENEE
Hu: #M2AAY (ABAND2)
chel: ol 2y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
It B < Xt 40,0003 x6H x 128 2,880
Lt . JIEFDLS 20,0003 x18H 128 4,320
Ct.E=MXH 60,000& x5 « 122 3,600
ch. AU XA 100,000& «2H 128 2,400
(E=22=+) 15,120
SR (A=) 15,120
b4 100,000 x1H x12& 1,200
Lt.552 80,000& x2H 128 1,920
Ct.6= 60,000& x5H 123 3,600
et.720l35t 50,0003 x14H 128 8,400
(=n=2224Y) 101,858
Azte2es¢ 92,751
t.52 14,0723 x2F «34 Al 2t 128 11,483
Lt.62 12,0023 *5H 34 Al 2t 128 24,485
tt.72 10,8413 x6H +34A| 2t 128 26,539
ct.8= 9,733 x4 H +34 A 2t 128 15,885
0t.92 8,798& x4 H «34 Al 2tx 12 14,359
2oATHMANFTIAZAZRE
10,8413 +x7H +x10AI 2t+ 128 9,107
HEA S) 105,299
1. 83U Z Al 140,000& »22H «12& 36,960
2. BEF Oty 683,390,000 *1.2/12 68,339
02 DIt B == 36,706
(UHEEEY LBAIM 924 ) 36,706
1.98 2,212,100& x1H + 123 26,546
2. MM AH 26,546,000 *4% 1,062
3.o=2g 8,810
JbIESE 1,200
1) = Xt 40,0003 x 18 «128 480
2)J1EHLE 20,0003 x3H 128 720
Lb A2l =G 8,798& x1H «34Al 2tx 122 3,590
Ct. &g 2=t 145,000& x1H « 123 1,740
ch. 3G Al 140,000 x1H = 12& 1,680
Oh.CHEI & S Hl 50,0003 x 18 «12& 600
NEEE MIURES 24,0002 «1H 128 288
IAHLZEXNE 87,740
TZAR) 44,265
.82 39,972
.20 (198 8) 1,862, 1602 x1H x 123 22,346
L. &3 1,862, 1603 » 19X x240% 4,470
Ch.ZZ =Dl 1,862, 160+ 1% *120% 2,235
ct. B UG A 130,000 x1H x12& 1,560
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2N
X ZH -
L= B

el

3y . B9 (31 ) - MIRAY - B ﬁlf& HD=2
0. RS2 XH| 70,000& *1H x12& 840
Hh AIZEI 22 E
11,640& *150%*30A| 212« 12& 6,286
A=Y 11,6403 *8A| 2E*x 1 %24 2,235
ENREEES 4,293
=2oHAZIEES 39,972,000& *4.5% 1,799
SUHLEE S 39,972,000& *3.335% 1,334
Lo RSYEEE
1,334,000& *10.25% 137
LINEEESE 39,972,000& *1.65% 660
WHEE =S 39,972,000& *0.908% 363
A) 43,475
=i 39,258
=0 (1682) 1,835, 160@ x1H »12& 22,022
A2 1,835, 160& 1™ *240% 4,405
JHE SO 1,835, 160& 12 *120% 2,203
A F A 130,000& x 1H =123 1,560
LW EE XY 70,000& *1H x12& 840
A2 2Y
11,490& *150%*30A| 2+ 12 x 12& 6,205
XY 11,4903 *8A| 2t 1 %22 2,023
SAHESEEEZ 4,217
=0AZIEE S 39,258,000& *4.5% 1,767
DA UEBE = 39,258,000 *3.335% 1,310
LI YEE S
1,310,000& *10.25% 135
LINEBESE 39,258,000& *1.65% 648
WNWHEE S 39,258,000& *0.908% 357
HFH| 42,780 46,260 AN 3,480
ZHI 42,780 46,260 A 3,480
2 Xl 42,780
= 400,000& x1H x12& 4,800
= 250,000 »2H x12& 6,000
= 165,000 x8H »12& 15,840
= 155,000& *4H x12& 7,440
9= 145,000 x5 128 8,700
=34dHl 127,039 127,104 A B5
Jle&y 127,039 127,104 A B5
201 Bt A H| 56,789 56,854 A B5
22 b 36,912 36,912 0
) 22,576
N2 Y| 200, 0002 *22% +80% 3,520
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2M: BNRR
M AN (ASNDR)

@2 Jl2&tl (&2 &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
P Rad SAANP AR S 420l
1,000, 000& *5H 2~ x80% 4,000
3.0 M 2 H &l 1,600,000& 1,600
4. BN EMYIISEFLY 501
JF.504 1,400 100 128 168
L. 1004 2, 7703 =100 12& 333
5. 22372 H| 4,900
b HMADRE 150,000& *11CH *23] 3,300
L. Z2tZg AR E 200,000& 4& 23] 1,600
6.AZHENAS 5,775
O 2t X g XX 6,400 x 102 +x12& 768
Lo @322t 2 6,400 x232 *12& 1,767
CtalExsa 15,0002 x182 *12& 3,240
7.8$=0|dX2 30,000& *4CH x12& 1,440
8. TVAHOIZ2 0 & 70,000& x12& 840
(S=dl) 14,336
1.2 NI S2S4AH|
8,000& x21H 64! x12& 12,096
2.3 0| 2L MU/ AHATRFA
8,000 x4 * 14! «100L! *70% 2,240
02 332494l 19,877 19,942 A B5
(3322 ¢ HA) 6,327
1.2ER2(SD]) 2,480 x1524x12& 447
2. XS XA 400,000& *x3CH x23| 2,400
. ASXHEE S 600, 000& *30H 1,800
4 5UHEMNES 70,000 *2CH x12& 1,680
(AIE & HI S XIH]) 2,150
1. e 50,000& =3CH 150
2.EE=22 100, 000& *20CH 2,000
(XtgF. &Hekgl) 11,400
1.5¢ 450,000& 10 =12& 5,400
2.0 250,000 =20 = 12& 6,000
202 04| 583,400 53,400 0
01 2LHOHI 48,000 48,000 0
1.93dR2FAI| 20l
20,000 10 x20H = 12& 48,000
02 AN Y| 5,400 5,400 0
1.2/ 8PP+ 225,000 x2H x12& 5,400
203 AP Z= Yl 9,050 9,050 0
01 J| 222G R=AH| 2,970 2,970 0
1.2 2g9 28| 3,300,000& *90% 2,970
02 RN R = XY 1,760 1,760 0




SN QB AR
o HH2YAY (AR R)
Sl Jl= 2|

SA BB O () - MM - HES 0l &+ o4 il

1. 2RIt R F | 80,000& x22H 1,760

04 NI FAH 4,320 4,320
1.2AS 300,000& *12& *90% 3,240
2. M2 AL (4Y) 100,000 = 122 x90% 1,080

204 R A H| 7,800 7,800

01 Mg 7,800 7,800
LAR=E(42) 350,000& x 18 128 4,200
2. M 22 (532) 100,000& x2H x12& 2,400
.22 (62) 50,0003 x2H 123 1,200




